35000

30000

25000

20000

15000

10000

5000

0

Run 5343 q

uartetwise, Asyms0 (Raw): All

quartetwize_asymi
[ - Entries 34460
[ Maan 815
~ Sid ey 1.175+05
o b b v e by e My oy by by L= ﬂﬁ
-15 -10 -5 0 5 10

HelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 31.740562)

12000

10000

BOOO

6000

4000

2000

0

Run 5343 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

ouanctwisa baam las! asymi
— _ Enlries 11626
— Mean 1847
B Sid Day  1.287e+05
_I N N T I N = T N T N N T T N T T T T 0 O O A :!lf.'ll‘.'j'fi
-8 —4 —2 O 2 4 B B 10 12

HelNSamples0)/|FosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 31.740562)

80

70

60

50

40

30

20

10

0

Run 5343 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb
— Enfries 2204
— Mean -0.01556
E Std Dawv 1.247
; = | oo | | | | | | | ] | | | ] | ct— |
—4 -2 0 b 4

HelNSamples0)/|PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 31.740562})

Run 5343 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

cuanchwisa kaami lasd asymi
— Entries 9158
— Mean 01413
300 = Std Dev 9512
250 {—
200 —
150 —
100 —
50—
DIIJ_LnlIII|IIII|IIII|IIII|IIII|III-I—L.-H_LII
=40 —30 —20 10 0 10 20 30 40

HelNSamples0}/|{PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 31.740562)




G000

5000

4000

3000

2000

1000

400

350

300

250

200

150

100

50

Run 5343 quartetwise, Diffs0: All
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Run 5343 quartetwise, NegHelAccO/NSamples: All
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Run 5343 quartetwise, PosHelAccO/NSamplesC: All Run 5343 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5343 quartetwise, Sums0: All Run 5343 quartetwise, Sums0: Beam OFF
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